
ALGEBRA – practice Maths diagnostic test 
(Non-calculator paper) 

 

1. Solve the equation: 
 
a)   3𝑥 +2 = 16                                                                                                                        (1) 

 

b)   5(2𝑥 − 1) = 35                                                                                                               (1) 
 

c) ௫

ଷ
                                                                                               (1) 

 
d)   4𝑥 + 3 = 18 − 2𝑥                                                                                                           (1) 
  

2. Simplify     2c + 6d + 4c – 8c                                                                                                    (1) 
 

3. Multiply out: 
 
a)  4(𝑚 − 1)                                                                                                                           (1) 

 
b)   𝑝(𝑝 + 3)                                                                                                                           (1) 
 

4. Expand the brackets and simplify:  
 
a)  2(3𝑥 + 1) − 3(𝑥 − 2) =                                                                                                (2) 

    

b)   𝑥(2𝑥 − 3) + 4( 𝑥ଶ + 1) =                                                                                            (2) 
 
 

5. Factorise: 
 
a)   4𝑐 + 12                                                                                                                             (1) 

 
b)    𝑥ଶ + 5𝑥                                                                                                                            (1) 
 
c)     𝑥ଶ − 10𝑥 + 25                                                                                                                (2) 
 



𝑑)   𝑥ଶ − 16                                                                                                                              (2) 

 

6. Factorise completely   8𝑥ଷ𝑦ଶ − 4𝑥𝑦ଷ                                                                     (2)                                                                              

 

7. Multiply and simplify    (𝑛 + 3)ଶ                                                                                            (2) 
 

8. Simplify:   
a)  𝑛଺ × 𝑛ହ                                                                                                                                     (1) 

 

      b)   
௫మାହ௫ା଺

(௫ାଷ)మ                                                                                         (3) 

 

     9.  

 



10. 

                                                   (3)    

 

  11. 

            

                                                                                                                                                   Total (4)  



12. Make 𝒑  the subject of the formula  𝑦 = 3𝒑ଶ − 4                                                                 (3) 

 

 

13.  a)  Solve 6𝑥 + 4 > 𝑥 + 17                                                                                                         (2) 

 

 

b) 𝑛 is an integer with −5 < 2𝑛 ≤ 6.   Write down all the values on n.                            (2) 

 

 

14.  Solve   𝑥ଶ − 4𝑥 + 3 = 0                                                                                                             (2) 

 

 

15.  Simplify fully:                                                                                                                                (3) 

    a)      
ଷି௫

ଷ௫మିହ௫ିଵଶ
   

                                                                                                

 

    b)    Write   
௫

௫ିଵ

௫

௫ାଵ
   as a single fraction in its simplest form                                    (4)                         

                                                       

 

 

 

 

 

 

 

                                                                     End of Paper         


